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POLITICAL SCIENCE - II

India’s views about Indo-Pacific region
expressed in the High Level Dialogue on
Indo-Pacific Cooperation held at Jakarta
in March - 2019 were :

(a) Indo-Pacific nations should have
freedom of navigation and
continous trade.

(b) Indo-Pacific region should be free
trade zone as per international
laws,

(c) Indo-Pacific nations should be
allowed to develop a nuclear
deterrent system for their own
security.

(d) Regional conflicts should be resolved
through peaceful negotiation.

Select correct answer :

(A) (a) and (d) are correct

(B) only (c) is correct

(C) only (d) is correct

(D) (a). (b) and (d) are correct.

What is not true about SWAYAM ?
(A) It is a programme initiated by
Government of India.

(B) It is for College and University
students only.

(C) Itis recognised by UGC

(D) It provides free of cost courses

= 1

ST | 1 2019 W A YRa-wen e
HAN W I TG aien ¥ 256 YRE F
faam 9 -

(a) WRA-WIa &=19 <90 =+ @as 9 9
AR SH a9 T =R w9 1
T B =R |

(b) SR FEA F AT Y- Foid
&1 o SATIN 4 EF1 =ifeu |

(c) WIRG-W9Iid & 3 ¥ I ST gean §
Tifertg e womelt =1 faswg =5
ST frert =nfew

(d) &5t ged = ot wifs aml ¥ w@e
Fruer =ife |

nﬁmﬁﬁq:

(A) (a) 3R (d) =t §

(B) I (c) Wet &

(C) Fael (d) wel &

(D) (a), (b) 2z (a) wet &

SWAYAM % fordl o wet =1 &2
(A) FE YA TEHR H U G T

(B) I& " Welfearanery 3R favafawmem
& BT /B F ol B

(C) e favafeeme™ smem 3mEm g
= T &

(D) ¥ (:3[o UIHY SUe FHUar & |
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Which of the following is not a core value
according to Confucius ?

(A) Filial Deity
(B) Honesty
(C) Humaneness

(D) Ritual

Which of the following is the most
appropriate example of multilateral
diplomacy ?

(A) Indo-Pak Agra Talks (2001)

(B) US - USSR Reykjavik Meeting
(1986)

(C) Brenton Woods Conference (1944)

(D) Lancastor House Treaties (2010)

Countries involved in the ambitious TAPI
Gas Pipeline project are :

(A) Turkey - Albania - Poland - Iran

(B) Turkey - Azarbaijan - Pakistan -
Iran

(C) Turkmenistan - Afghanistan -
Pakistan - India

(D) Turkmenistan - Azarbaijan -
Pakistan - India

3.

FARREE % AR fF=feteE § 9 #6 @
o I T §?

(A) HaHE yHfT=T
(B) FAFEH
(C) =g

(D) H&R

AEILHT ST 1 waitu sfaa sem frs
HaAEE?

(A) WRA-9IfHEE S amEi (2001)

(B) I.UH. - Y.UH.TH.3N. g a8
(1986)

(C) =4 g58 9HEH (1944)
(D) o Ty =Y (2010)

ardt T g 9 | wnfae neaia
WE:

(A) TH - e - 9ers - TE
(B) H - IEH - IfHar - T

(C) qhHfam - TFmfaeE - uifsaE
- A

(D) gHEfEH - SeasE - TifesaE -
HRd
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Consider the following statements :

(a) Central Administrative Tribunal
(CAT) was set up during the Prime
Ministership of Lal Bahadur
Shashtri.

(b) The members of CAT are drawn
from  both judicial and

administrative streams.

Which of the above statements is/are
correct ?

(A) (a) only
(B) (b) only
(C) Both (a) and (b)

(D) Neither (a) nor (b)

Which of the following books is not
written by John Rawls ?

(A) The Idea of Justice
(B) A Theory of Justice
(C) Justice as Fairness

(D) The Law of Peoples

frefafas w04 1 saass w58 ¢

(a) R SR ST T TRt
vt % T | fad gem o)

(b) F=EE wmEfE =rEfiET % ge=
=19 Ud yengfe a9 fom e ¥

I H W T T 2/E?

(A) ¥ (a)
(B) M (b)
(C) (a) W (b) T

(D) (a) &R 4 (b)

Forerfeta Teal # @ F 6  Tew 3
forat &2

(A) T smsfean 1% sifey
(B) U & 3% wifew
(C) =" 8 watE

(D) = &l 3% diveg
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8.  MatcH the Authors in Group-1 with their
Books in Group-IL

Group-I Group-II
(Authors) (Books)
(@ M.N. Roy (i)  Thoughts on
Pakistan

(b) Aurobindo (i) Fragments
Ghosh of World Mind

(¢) B.R. Ambedkar (iii) The Life Divine

(d) Ram Manohar (iv) Reason,
Lohia Romanticism and
Revolution

@ (b) () (d)
(A) (v) (i) () (i)
(B) @) @) () (@)
© @ @ (v) (i)
(D) (@) (v) (@) (i)

9.  Essence of Vivekananda's Philosophy can
be best described as :

(A) Neo-advaita which reconciliates
dualism with non-dualism.

(B) Manifestation of external and
internal divinity in humans.
(C) Spiritualization of one idea that

shapes human life,

(D) Supra-natural concept of
nationalism steeped in religious
faith.

8.

(b)

(©)
(d)

-1 % oEs! &1 ugg-11 ¥ 58 ™ 3

Y&l | faem Fifew )
uqE-1 -1
(orE ) (&= )

TH.TA. 14 (i) 9iew T i

aRfa=r d (i) WE=Y S TeE
ArEe

AR, dEEFT (i) T TBE feawa
TH AR dife  (iv) {9, Tefefees

(A)
(B)
(©)
(D)

T ey

@ ® © @
™) @ 0O G
@) 6 () @
@ 6 ) G
@) @ O G

faerF= % T@am % W # I faaw

T
(4)
(B)

©

(D)

TE-137 S EAaR F FgAAR d qyw
TR

AE oA o A Sfawa @
sifieafaa 21

T YROT T SATEATHTRI0T ST HHe Siia
&1 TSI HLa B

uiftis fer % w9 & gren @ ugar
&1 aferEEg )
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10,

(@)

(b)

(©)

11.

Match Group-I with Group-II :

Group-1 Group-II
Independent (i) Antonio Casses
Commission on

International

Development

Dogger Bank (i)
Incident Inquiry

William Rogers

Commission

Challenger Space (iii) Admiral Fournier
Shuttle Disaster
Inquiry
Commission
Inquiry
Commission

on Human Rights

(iv) Willy Brandt

Violations in

Darfur
Codes :

@ (b) (o) (d)
(A) (v) (@) () (@)
(B) @) @v) () (i)
(© Gv) () @) ()
(D) (v) (i) (@) ()

Which rank India has achieved in 2019,
EM2030 SDG Gender Index ?

(A)
(B) 95
) 102
(D) 87

103

10.

(a)

(b)

()

(d)

11.

AYE - [ 1 WY - 11 § Gifew Hifo

g -1 g - 11
HAoiea fawmm () ©AFE Fae
T EdF A
S A g (i) fafeEw e
T SR
eSO e (i) wefie wifhRr
THEA T
AT
T H (iv) faeit =iz
TSR
Gk et
AT STErT
L T3
(@) (b) () (d)
(A) (v) (@) () ()
(B) @) (v) (@) (i)
(C) @(v) (i) (i) (i)
(D) (v) (i) (@) (i)

EM2030 TH.E1.5. 2019 5899 § 9RA 1
A S T & ?

(A) 103
(B) 95
(©) 102
(D) 87
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12

The Great Leap Forward Movement of  12.

Mao Zedong was meant to :
(A) Modernize politics

(B) Modernise government
(C) Modernise police

(D) Modernise economy

i foeim & ‘2 T2 oty vrag!’ =
1 T T A1 ?

(A) TSI 1 enyfTERTRT
(B) EER &I AgfwiEI
© o m s
(D) SIefeTeEen F1 YR

13. Which of the following has a legal 13. T=fafea § 3 feost dufes frufs 32
status ?
(A) Democracy (A) wrFHa
(B) Nationality (B) UfrEan
(C) Citizenship (C) =mfiasan
(D) Humanity (D) wrHad
14. What does classical liberalism not 14. FGH! SERAMER fFEs gad T8 T
advocate ? &2
(A) Rule of Law (A) fafy s
(B) Limiting the power of government (B) UK ki Vi o1 i
(C) Civil Liberties (C) i Tdaar
(D) Ecologism (D) wfifeafama
SPACE FOR ROUGH WORK / TF% & & fodl we
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15

16.

Assertion (A) :

Post-Cold war world is largely unipolar
with ideology of market democracy as its
dominant trend.

Reason (R) :

There has been greater devolution of
power, better ethnic balance, more
safeguards for minorities and effective
settlement of disputes in new transitory
states.

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A).

(C) (A) is true, (R) is false.
(D) (A) is false, (R) is true.

What is correct about scientific
management theory ?

(a) Science, not rule of thumb

(b) Harmony, not discord

(c) Co-operation not individualism
(d) Maximum output

A) (a)

(B) (a), (b)

© @ (b) ()

(D) (@) (b), (). (d)

15,

16.

freRerT (A) :

¥id 95 % 39, fava, aem @9 F faaram

T T WHEYY FHE AR U YA @ T
]

T (R) :

aAfia iFaal &1 Twian dea gt
g, ATIHEEI $1 Al gean ud T4
HewauEie e § faael & yurEt ®9 9
THNH B3 E |

(A) (A) T (R) <HI 9 € 31 (R), (A) T
T T

(B) (A) a9 (R) < ¥&l & 9] (R), (A)
%1 GEl =rEn T e

(C) (A) T T, (R) 7o &1
(D) (A)Terd &, (R) ¥4 &1

I veu fagra & foma d a@t s &2

(a) fomm, siqe 1 fram =&
(b) W, FHeE T

(c) wedm, =famams T8

(d) fawan A

(A) (a)

(B) (a) (b)

(©) (@) (®) (0

(D) (@), (b), (), (d)

SPACE FOR ROUGH WORK / 7% & & fad wg

9210/TFU-POL/ELG-II

Set - A



17. Which of the following aspects have  17. fr=fafas & @ #7 @ &% wuma ¥ fow
significance for equality ? HEqU € ?
(a) Status (a) wieafq
(b) Democracy (b) wEHaA
() Rights (c) 3fasRr
(d) Citizenship (d) AR
Mark the correct answer. e I H1 HfFa Fifom
(A) Only (a) and (c) (A) 9 (a) 3 (c)
(B) Only (b) (B) ¥ (b)
(C) Only (c) and (d) (C) = (c) R (d)
(D) Only (d) (D) & (d)
18. Major aims of budget are : 18. ¥ F WEaU ¥ ¥
(A) Responsibility (A) EEcE
(B) To work as an instrument of (B) e % U IUHIV FHHL FH FHE
management
(C) To make economic analysis (C) anfed faveram =i gfaurses =
convenient
(D) All of the above (D) U Teft
19. What is correct about Development 19. To=m vores & fava d wdt ;= 22
Administration ?
(a) Ttis a dynamic process. (a) & TF Tiasis whHET T
(b) Itis a joint effort to achieve goal. (b) TE W& W FA I HH TEH ¥
(c)  Itsolves the problems of developing (c) =% fowrefter S9 =+t a9en = &=
countries. FIAEI
(d) It is governance machinery for (d) I Tree oo & fau wee o= %)
backward society.
(A) (a) (A) (a)
B) () () ®) (), ()
(€ (@) (b), (0) - (©) @ () (9
(D) (@), (®), (), (d) (D) (@), (), (). (d)
SPACE FOR ROUGH WORK / 7% &1d & o sme
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20.

21,

22.

Who among the following was associated
with the initial stages in the growth of
comparative politics ?

(A) Karl Popper

(B) Arthur Bently

(C) - BE:H.-Carr

(D) Graham Wallas

Which of these is matching in the context
of Utopian Socialism ?

(a) Charles Fourier

(b) Saint Simon

(¢) Robert Owen

(d) George Bernard Shaw

(A) (a)

(B) (a) (b)

(€) (@), (b) ()

(D) (@), (b), (), (d)

Aristotle has been described as the father
of politics because :

(a) He adopted inductive method.

(b) He was an empirical thinker.

(¢) His approach was analytical,
observational and experimental.

(d) Headopted speculative and a priori
method.

Choose the correct code from the below :
(A) (@), (c) and (d)

(B) (b), (c) and (d)

(©) (@), (b), (¢) and (d)

(D) (a), (b) and (c)

20.

21.

22,

JoTeTe et & fasra § arifyes <o
% Wy f= | 9 9 gwig a1?

(A) A IR
(B) a7t szt
(C) IUE &R
(D) TIEH e

FEAARIE FHEER % Had H wiF gafea
&7

(@) e HRER

(b) e T

() U= A

(d) st ==TE it

(A) (a)

(B) (a) (b)
(©€) (@), (b), ()
(D) (a), (b), (c). (d)

3E] H T FT FHSE wE T R
Hifer :

(a) IHA s faf = sroamn

(b) =& Uk AjHiae o= o1

(c) SHa gfte dveifes, Taceras
qUT YT o

(d) 3 ettt qa e fafy 1 s

ot & & W FE %194
(A) - (a), () 3R (d)

(B) (b), (c) ¥R (d)
© (), (b), () 3R (d)
(D) (a), (b) #R ()

SPACE FOR ROUGH WORK / &% & & foa g
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23.  Match Group-I with Group-II. 23. WHE-1 % we-11 ¥ faem #ifu
Group-I Group-II |qE-1 HYE-1I
(a) Lotus and Dagger (i) V.D. Savarkar (a) @RETET IR () HIF W
(b) Abhinav Bharat (ii) Pandita Ramabai  (b) 3ifiFs wra (i) dfea wmEE
(c) Justice Party (iii) Aurobindo Ghosh (c) wifed w=t (iii) Rfe= =M
(d) MuktiMission  (iv) EV. Ramaswamy (d) Hf¥ fiwm (iv) 337 THEEEmE
(@ () (o) (d) (@ () (o) (d)
(A) (v) () (@) (i) (A) (v) () @) (i)
(B) (i) () (iv) (i) (B) (i) (i) (@v) (i)
(©) (v) (i) (@) () (© (Gv) (@) @ ()
(D) () (v) @ (i) (D) (@) @v) (@) (i)
24. Which Act had the provision of the 24, YRd ¥ fgomea #i ==en F1 yaum fFg
system of Dyarchy ? stfufam | a1 ?
(A) Act of 1919 (A) 1919 =1 Hfuffay
(B) Act of 1909 (B) 1909 =1 sifufyam
(C) Act of 1935 (C) 1935 =1 sifufram
(D) Act of 1928 (D) 1928 =1 Afufram
25. Which one is not the qualification for  25. T=fcifEa dFHA i R 1 YT 594
being elected as President of India ? FIATIAH H A TR B ?
(A) He has to be a Citizen of India (A) 39 9RG H1 AR B =ifed |
(B) Should be a minimum of 30 years (B) S8 gAaH 30 a9 HT G F B
of age =fed |
(C) The person should be eligible to (C) U AFT I GG T I Araan
become a member of Lok Sabha @ =fed |
(D) The person should not hold any (D) 38 o ¥ Rt 78 W7 dmn anfed |
official profit
SPACE FOR ROUGH WORK / 7% & & fog wnme
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26.

27.

28.

Which amongst the following is not a part
of Hegel's dialectics ?

(A)
(B)
(©)
(D)

Hypothesis
Thesis
Antithesis
Synthesis

Which of the following is the main
function of the Central Vigilance
Commission of India ?

(A) To keep a the
investigation agencies in the
country.

watch on

(B) To inquire or cause an inquiry of an
alleged offence committed by a

public servant.

(C) To expedite the disposal of criminal

cases pending before courts.
(D) To scrutinize the utilization of
development funds sanctioned by

the government.

In 2018, US and Russia withdrew from a
major treaty arrangement of cold war
period, that is

(A)
(B)

Intermediate Range Nuclear Force

Anti-Ballistic
Agreement

Missile Test

©
(D)

Strategic Arms Limitation Treaty

Four Continent Peace Initiative

26.

27.

28.

frefafas 3 | S |1 = e % G
H TR

(A) TfRET

(B) WM

(©) foum

(D) H&

fpafafias # 9 19 1 9Ra F F=E1a Fawa
A 1 wgE w4 ¥ 2

(A) T HT TN SATFTON TR TS |

(B) Tl sk Ha® W @ ARG &I Wi
o1 ST I WAl T W T |

MEEE & THY Sfaa T w1 i
fAger A

TR g fruffe fawm fafy &
T I " HE

(©

(D)

¥t 9% F e § g U HeH HiY Haen |
=8 2018 H 9.UH. T8 ¥9 9IS ¥ ™ 9 9y
qi :

(A) z=fafewe I fee v =

(B) U-afafes foame vl sgae

Lo
(C) =mfiEw et HHid 9fa ™
(D) R TWER § wifd F1 95e W

SPACE FOR ROUGH WORK / T& &4 & foa -
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29.  When was the first meeting of constituent 29, HiFYF T F Yoy F=w Ty g t?
assembly was held ?

(A) 9% December 1946 (A) ofeHaT 1946
(B) 9% November 1946 (B) 9 7HsR 1946

(C) 9" January 1946 (C) 9 ST 1946
(D) 9th October 1946 (D) 9 3AFS 1946

30.  Arrange the following events in correct 30, f= Feai =) W& F S | safe
chronological order. Hifey |
(a) 11" SAARC Summit (@) 11 g% foray gaem
(b) Operation Vijay (b) sATTEH fag
(c) Attack on Indian Parliament (c) Rdra HoE W gHa
(d) Launch of Amritsar-Lahore Bus (d) STTTER-TRR 9 TG 1 YuRy

Service
(e) Attack on Pathankot airbase (e) TSMHIZ WHREH T THaAT
(4)  (e), (®), (c), (a), (d) (A) (@), (b), (). (@), (d)
(B)  (d), @) (), (0). (b) (B)  (d). @) (e), (c), (b)
(©) @ (®). @), (), (e) © @ (®), (d), (©) ()
(D) (d). (b). (©). (a). (e) (@) (d). (b), (), (a), (e)

31.  Which one of the following is not the core 31, f=7 d @ dmigTa usHfa & fafeg
element identified with realism in EIESIEET Cicic) &1 3999 98 &7
international politics ?

(A) Statism (A) ToTEE
(B) Power (B) wifsm
(C) Prudence (C) faa=
(D) Economic interdependence (D) snfdfw sirfrefar
SPACE FOR ROUGH WORK / % &Td % forat =g
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32. Which is unmatched in the kinds of 32.

Leadership propounded by Terry ?
(a) Charismatic Leadership

(b) Personal Leadership

(c) Authoritarian Leadership
(d) Indigenous Leadership

(A) (a)

(B) (a), (b)

(€) (@) (b) (c)

D) @, ®) (). (d)

33. Who is the author of the book called “The 33.

Second Sex” ?

(A) Frantz Fanon

(B) Hannah Arendt
(C) Simone de Beauvoir

(D) Gramsci

34. Symbols to the political parties at the time 34.

of elections are allotted by :

(A) Election Commission of India
(B) CEO of the State

(C) Returning Officer

(D) District Election Officer

3t Ry wfwifed Jge & wehR o @ gafe
T & ?

(a) wfEaE Tga
(b) —=AFTE TTH
() SRR Fq
(d) T TG
(A) (@)

(B) (a), (b)

© (@) (®)(©
(D) (a), (), (), (d)

"'z e S AWE [ & d@E HH
€2

(A) Wem
(B) TRULS
(C) fadm g-dier
(D) i

TAE F 9HG TeHias gell & g9 o

(A) Ra & Frafem s g
(B) T4 & WA fAatem amge g
(C) frataq sifusrd g

(D) foren fratem sifuerid gm

SPACE FOR ROUGH WORK / 7% & & o wmig
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35. Which of the following is unmatched in  35.

the context of POSDCORB ?

dreseE % Hao  w gHfed T &2

(a) Planning (a) @

(b) Organisation (b) HTSH

(c) Selection () =

(d) Direction d) fwm

(¢) Co-operation (e) @M

(f) Rationality (f) g

(8) Budgeting (g fom

(A) (@), (@, (d (A)  (a) (), (d)

(B)  (®), (d), (g) (B) (), (d), ()

©) (@ (). () (©) () (e), (O

(D) (b): (e), (g) (@) ®), (e) (8
36. Machiavelli was a : 36. Hfswamaet o1

(A) Republican (A) fofssa

(B) Monarchist (B) WHHARfH=

(C) Aristocrat (C) uf=rme

(D) None (D) IE st &

SPACE FOR ROUGH WORK / 1% %14 & fod g
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3z.

38.

Which of the following statement/s 37,

is/are correct with regard to Kautilya's
thoughts ?

(a) King is paternalistic and

constitutional slave.

(b) National interest is the only
permanent character of foreign

policy.

(c) State is a police-state which uses
dandaniti as its coercive power.

(d) Half of the agricultural produce
should be collected as tax by the
King.

Select the correct answer.

(A) (a), (b) and (c) are correct.
(B) only (d) is correct.

(C) (a) and (b) are correct.

(D) (c) and (d) are correct.

The term “Cold War’ was first used by an 38.

American statesman on April 6, 1947, he
was :

(A) Bernard Baruch
(B) Stanley Hoffman
(C) Hedley Bull

(D) None of these

Fifeeq T faar & Hey ¥ f=fafas & 9
FPA-T1/H FYA wEH R/ E 7

(a) 7ol Ugeh 3R Senfer e g g )

(b) WA fem Fow fagw Hifa =1 e
wWEY B

(c) 4, JfTa-T94 § ST SUeHITa &1 39
Froesrt ofea & w9 1 wam =3 21

(d) i YemER 1 eaen Sw ae 5R R F
w9 H giy@a fan s anfeu

W I F1 T Hifew |
(A) (a), (b) ¥ (c) Wl
(B) ad (d) Wl ¥
(©) (a) 3 (b) WE €
(D) (o) ¥R (d) & €

6 AU, 1947 I Yid I TS FT ITART Teelt
TR U ST Toar A o o, swoen

(A) wAE FF9
(B) Tl BFEEA
(C) et g
(D) & *1E &

SPACE FOR ROUGH WORK / 1% &4 & foa wg
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39.  Arrange the following Presidents of India 39, freferfigs sieeftr T =) w95 w2 o
in order of their year of assuming their F FHAER T
office :

(@) R. Venkatraman (a) SR Ay

(b) V.V. Giri (b) @A frd

() Neelam Sanjiva Reddy (c) rem weftar @

(d) S.D. Sharma (d) ww.E mi

Which order is correct ? HIF | FH & E?

(4) (@ (b). (o), (d) (A) (@), () (). (d)

(B) (<), (b), (a), () (B) (0), (b), (a). (d)

©  (®) () @) @) ©) (b). (©). (@), (d)

(D) (b). (a), (). (d) (D) (b), (a), (c), (d)

40.  Which of the following statement is not ~ 40. %Y @@ T sAfufam, 2013 & Gay o
correct about National Food Security Frefafas 3 4 29 @ wo7 wd =8 37
Act, 2013 ?

(A) The fundamental right to life (A) v Sfaum # g 21 F st
enshrined in Article 21 of the w3, Sfted % stfusr %) =mwen 5,
Constitution may be interpreted to IS % sifysr @1 afinfem fe @
include the right to food. EET RS

(B) Under the Act special provisions (B) =9 sifufam ¥ awa, moiadt afeemsi
have been made for pregnant T FH ATl Afeensdi vd 6 7w @
women and lactating mothers and 14 77 T % s % ford fadm W
children in the age group of fFa ™ E
6 months to 14 years.

(€) The National Food Security (C) T @ [ean wfufem 2013, @
Act, 2013 marks a paradigm shift Tl ¥, FHegErEt Ium’ | ¢ enyw
in the approach to food security STHTE S9PTH it 39 afiads =1 2
from welfare to right based 2GRS
approach.

(D) To encourage women (D) wfeen TvERiE 1 wg@ 23 F fod
empowerment, the Act makes it Afufrm 72 sftard s 2 f,
mandatory that PDS shops should e o goreht % siofs g
be owned by women only. gFH Afeansil & w@nfrea & € i

SPACE FOR ROUGH WORK / 1% &Td & fomd g
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41. Match the following in context to the
Indian Constitution :

(a) Abolition of (i) Article 30
Untouchability

(b) Rights of Minorities (i) Article 17

() Protection of Life (iii) Article 18
(d) Abolition of Titles (iv) Article 21
The correct match is :
(@ (b) (o) (d)
(A) @ @ @Gv) (i)
(B) () (@) Gv) ()
(© @) @) () @
(D) @ (@) @) (i)

42. With reference to the procedure for
changing name of the state, which of the
following is true ?

(a) Bill for such purpose as to be
introduced in Lok Sabha only on the
recommendation of President.

(b)  Bill for such purpose is a constitution
amendment bill.

(A) Only (a) is correct
(B) Only (b) is correct
(C) Both (a) and (b) are correct
(D) Both (a) and (b) are wrong

41.

(@)

(®)

(©)
(d)

42,

widEg d@faum & ded 7 wdt gufea
Hif :

SEqYE I S (i) =T 30

TSR] & (i) IS 17
ATYFR

HIO7 T HTEOT (iii) T 18
Iuiferdi & &ia (iv) =T 21
A | W& gAfea ¥ 2

@ (b) (9 (d
(A) () (@) (v) (i)
(B) () @) @v) (i)
(€) (@) @@ G6v) (@)
(D) @ @) @) (iv)

fordt Teg =1 9 ofEfda =9 % wfEa 5
frefafaa § @ = ad &2

(a) =9 YFER F waE & fadas, g
H W Ugufa F oTEE € & weh
feran s whar 2

(b) TH R % WEara H1 fasaw wiaum
Hyie 1 fadaes g #

(A) T (a) TE T
(B) W (b) W&l ¥
(C) (a) 3 (b) 31 |et E)
(D)  (a) 3R (b) Zrl e €|

SPACE FOR ROUGH WORK / 7% &4 & ford wmg
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43. Assertion (A) : 43, e (A):
India’s nuclear policy stands on the R F A A 39 geq W FEE &
conviction that global elimination of faw @ v sl 1 @mm v =1 &
nuclear weapons will enhance its security & afesh I fava #1 off qran § gfz wom
as well as that of the rest of the world.
Reason (R) : T (R) :
India’s nuclear programme aims at I 1 MRS e 1 forvaeta =
credible minimum deterrence and is HarF ao Faer sl Few st T &
strictly for self defense. fom &1
(A) Both (A) and (R) are true and (R) is (A) (A) T (R) 21 e & 791 (R), (A) F
correct explanation of (A) e = ¥ |
(B) Both (A) and (R) are true, but (R) is (B) (A) @1 (R) T4 ¥ & T (R), (A)
not correct explanation of (A) 1 HEl = T R
(C) (A) is true, (R) is false (C) (A)®FE, (R) Tod &1
(D) (A) is false, (R) is true (D) (A) 74 2, (R) TeF &1
44. Anti defection provisions are contained  44. TE-UEW WAt WEANF WRT ¥ GyAE
in which schedule of the Indian frg st 4 82
Constitution ?
(A) Schedule 9 (A) =19t 9
(B) Schedule 10 (B) e H= 10
(C) Schedule 11 (C) H=T 11
(D) Schedule 12 (D) STg=t 12
SPACE FOR ROUGH WORK / 1% &4 % fordt s
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45.

46.

47.

What is correct about management by 45.

objectives ?

(a) Itis also known as management by
result

(b) It was first popularized by
Peter Drucker

(c) Peter Drucker propounded this
theory in his book ‘“The Practice of
Management’

(d) The book was published in 1975
(A) (a)

(B) (a), (b)

(€) (@), (b) ()

(D) (@), (b). (c). (d)

Plato wrote : 46.

(A) Politics

(B) The Laws

(C) Political Economy
(D) Polity

Who amongst the following talks about  47.

“Good Citizens” and “Good Man” ?
(A) Confucius

(B) John Locke

(C) Plato

(D) Aristotle

Ry g vEy F fama § m s £ 7

(a) = 9FOTH ER WEEA & w9 F o S
e &

(b) F9 vuHA: deX T A ABAT T

(c) R A7 fagr % it st
g ‘Tz ey sifw Ao’ § R

(d) IE T 1975 § g g
(A) (a)

(B) (a), (b)

(© (a). (b). (©

(D) (@) (b), (c), (d)

w7 ot
(A) T
(B) =
(C) TsHifas srefegazen
(D) T

frafafEa & 9 99 o= T’ it
“ 318 3Tl I AT A R ?

(A) FAGEREE

(B) M @it

(C) ==

(D) st¥

SPACE FOR ROUGH WORK / T% &1d & fod =g
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48. Who authored New Humanism - 48, = gafew - € A1) fres fora 2
A Manifesto ?
(A) Gandhi (A) T
(B) M.N. Roy (B) WH.H. A
(C) Aurobindo (C) arifsmy
(D) Mao (D) wedt
49. — was arrested by the US police ~ 49. 918 2011 % 1SI & Wy ittt H9ei 31 0
in 2011 on the charges of spearheading o w5 F Fve § o s Bt o
separation of Kashmir from India in 1 7,09, Iferw 3 fregam e o
association with the ISI.
(A) Sayyad Gulam Nabi Fai (A) FI% TEW TE T
(B) Zakir Abdul Karim Naik (B) W HAeger W T
(C) Abdul Hamid Fayaz (C) g wHrE Tyre
(D) Zaki-Ur-Rehman Lakhvi (D) STERI-3-{89H =@
50. Gandhian concept of Swaraj is marked 50. e T 1 Hewew f | farad 2fig
by the following : BaE?
(a) Critique of modern civilization. (a) oMYFF F2ra F1 =T Y
(b) Rejection of Western Industrialism. (b) =TT TR F T
(c) Critiquing the modern state. (c)  @gfTeR TGl &1 HErET B
(d) Attainment of Sarvodaya through (d) foFdrm & ot =9 % qom 9
all forms of decentralization. Tated 1 @87 B iftd HE
Choose the correct answer from the et & | wdr s 5
below :
(A) (@), (b), (c) and (d) (4) @) (), (0) ¥t ()
(B) (d) only (B) ¥ (d)
(€) (c) only (©) waw ()
(D) (a) and (b) (D) (a) ¥ (b)
SPACE FOR ROUGH WORK / T% &1 & forar s
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.

(a)

(b)

()

(d)

52.

Match the following :

Inclusion of (i)
fundamental
duties

Abolition of (i)
Right to Property
Voting age (i)
reduced
from 21 to 18
Free and (iv)
Compulsory
Education to

all Children
between 6 and

14 years

(@ (b) (o)
(Aa) @ (i)
(B) @) (@)
© @ @) @
(D) (@) @) ()

Who are related to Ecological Approach 52.

51.

42nd
Constitutional
Amendment

61 st
Constitutional
Amendment
44th
Constitutional
Amendment
Bﬁth
Constitutional
Amendment

(d)
(iv)
(B
(iv)
()

to the study of Public Administration ?

(a) LM. Gaus

(b) Riggs

(c) Dahl

(d) Waldo

(A) (a)

(B) (a), (b)

(€ (a) (b). (c)

(D) (a), (b), (¢), (d)

fFr=fafaa =1 foemm =1 .
(a) Wifer® &=l (i)
FI e F1

(b) wufa F AUHR (i)
1 WHIG B

(c) WaeH & SAUFR (i)

I g

21 ¥ 18 79 B
(d 6-1499TF &

gt I I

9w o

HAfFard fonen =51

e

@ (@® (3 (d

(A) @ @ () ()
(B) () (i) (i) (i)
© 0 @ @ @)
(D) @) @) (v) @)

(iv)

4249
Hfay=

86 91

T WITEA % S & uifefas =umm

 FI9 wraEfid § 2
(a) T MY
®) f=

(c) <@

(d) 3R

(A) (@

(B) (a). (b)

© (@, ®)©
(D) (a), (b). (c). (d)

SPACE FOR ROUGH WORK / 1% &1d & 53 -
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53. Choose the correct answer : 53. W& IW gf -
() Members of the committee on (a) ke WHfT F 999 AEY g0
Estimator are elected by Loksabha, 19 ¥ |
(b) The Chairperson of the committee (b) YRR wiEfa F ey # ERIES]
on Estimate is appointed by the HHE A GRI THF Wew H A
Speaker from amongst its members. I A
() A minister cannot be elected as a (c) =IE W3ll, Wrawer wftfd 1 wew TE
member of the committee on A1 S T |
Estimate.
(d) The term of the office of the (d) wrFReH wfafa 1 FEww F T =
committee on Estimate is one year. B
(A) Only (a) and (c) are correct. (A) ¥ (a) 3R (c) Tel FI
(B) Only (c) is wrong. (B) HH (c) Tera ¥ |
(C) Only (b) and (d) are correct. (C) = (b) i (d) T )
(D) All are correct. (D) |4 & &
54.  Which of the following statements is true 54, frefafaa § @ 319 o1 a9 siwds & feg
for democracy ? E R
(a) Supreme power with President (a) Tezufa =t sy v
(b)  Rule of people (b) A T WMEA
(c) Equal share of power (c) wifed =1 w9 faa
(d) System of decision making (d) T a5 =+t e
Mark the correct answer. et IW F FHfwa wifu
(A) () and (c) (A) () 3 (o)
(B) (a), (c) and (d) (B) (a), () 3R (d)
(©)  (b), (c) and (d) (©) () () 3 (d)
(D) (@), (), () and (d) D) @ () (© 3R (@
SPACE FOR ROUGH WORK / 7% &1 & fod s
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a5.

56.

Identify the correct characteristics of
political development as mentioned by
Lucian Pye.

(A) Equality, legitimacy, authority
(B) Capacity, rule of law, equality
(C) Equality, capacity, differentiation

(D) Authority, supremacy of law,
legitimacy

Which of the following is/are not the
Support system based on feedback in the
systems theory model propounded by
David Easton ?

(a) A group that promotes decisions
through common, peaceful action.

(b) A Constitutional arrangement to
process popular demands.

() An extra-societal component

comprising non-political entities.

(d) A specific organised structure to
implement decisions.

Select the correct option :
(A) (a) and (c)

(B) (b) and (d)

(C) only ()

(D) only (d)

55.

56.

ST o g1 SecifEa, TsHifas fasm &
@ formarsil &1 vewm Fifem)

(A) oo, e, iR

(B) &wel, ST WA, WA
(C) TuFd, amal, fades

(D) YR, FEA F 9=, Aue

2faz 3= g wiaaifed yonedt fagia afza
H yfagfee smnfa weme yomet fre § 4
FIF-HT TG 8 ?

(a) & HYE S W UE wifqgol e
| fofa =i eman =1 =em &

(b) SR ATl FI WA F TF HAE
EELN]

(c) uwHAfaF-wmfas w=x faud
-t 2 € |

(d) Wﬁmaﬂ%ﬁmﬁ@ﬂw&a
AT

o fawen =1 g

(A) (a) ¥R ()

(B) (b) 3T (d)

(©) %34 (q)

(D) e (d)

SPACE FOR ROUGH WORK / 7% T4 & fod smig
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57.  Which of the following is the correct

58.

description of Non-alignment ?

(A) Policy of neutralization, which
avoids any position in times of

peace or war.

(B) Policy of isolationism, that makes
the countries unconcerned about
global issues.

(C) Policy of Equidistance, which
enables countries to keep silence
during a conflict.

(D) Policy to take independent decisions
and take stand as per the merit of
issue, safeguarding national interest
without pressure from super
powers.

Which of the following is not a principle
of Panchasheel ?

(A) Mutual respect for each others
territorial integrity

(B) Non-interference in internal affairs

(C) Periodic review of each others
defense forces

(D) Non-agression

57.

58.

“frfe'" 1wl avi A A S

(A) =Rt Hifa, St wifaere svee
73 o forslt off v % @y = €

(B) reEETE i Hifd, St dfvew wwal
T HTE wfafswan TE o

(C) =gl =t ifd, S vl = wod &
A T E

(D) ifsrenelt <o % <ome § o & ==
o T fed i e H v g R
it AT W e w9 4 fofg o
2l

=1 3 § *F-w vuie &1 v fagia o
#?

(A) TF gH &F y-urig E=a ¥ fou
A9 Hefa=R

(B) &idfes wrHe ¥ wwaay T2

(C) T TH S Yl 5el W i gutan

(D) 3T &

SPACE FOR ROUGH WORK / T% @14 & ford wg
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59,

60.

61.

“Violence is the natural state of colonial
rule” - who said so ?

(A) Hannah Arendt
(B) John Rawls
(C) Mao Zedong

(D) Frantz Fanon

Which one of the following is not
applicable to citizen’s charter ?

(A) Citizen's charter initiative covers
the Central Government and State
Government both.

(B) Citizen's charter initiative is legally
enforceable.

(C) Citizen’s
expectations of the organisations
from citizens for fulfilling the

charter includes

commitments of the organisation.

(D) All are applicable.

Who gave the slogan - “Back to Vedas” ?

(A) Sarojini Naidu
(B) Dayanand Saraswati
(C) Vir Savarkar

(D) BG. Tilak

59.

60.

61.

" Siafraferr s B wefae s féa
2 - g frum wyA 2

(A) TRULS
(B) A Tew
(C) e frein
(D) %=H &

AR =@ 93 % ol faeifea § @ 29
HI =1 @ T et ?

(A) MR ST 97 9, e SR 3
T TR S i 9 SR § o1 £

(B) RTI ST9ON 9 Y8 HIH T § @]
e =1 9 ¥

(C) Hem =t wiaagsll #1 QU 13 &
fe@, amfiw d@mon o §, e @
&, wfmfer 2t &)

(D) | ] F1 W T

fga =g 7 famr o ‘390 F U a9
e’ ?

(A) TS g
(B) TIF< O
(C) =R |
(D) it foers

SPACE FOR ROUGH WORK / T% &4 & fod wme
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62.

63.

Find the right answer :

(a) Foreign nationals in India are given
the right of prohibition of
discrimination on the grounds of
religion, race, caste, sex and place
of birth.

(b) Foreign nationals in India are given
the right to elementary education.

(c) Foreign nationals in India are given
the right to equality before law.

(d) Foreign nationals in India are given
the right to equality of opportunity
in matters of public employment.

(A) All are correct
(B) Only (b) and (c) are correct
(C) Only (a) and (b) are correct

(D) Only (a) and (c) are correct

Who of the following authored the book
“The Anatomy of Revolution” which
mentioned 7 stages of revolution ?

(A) Crane Brinton
(B) Althussar
(C) Carlyle

(D) Edmund Burke

62,

63.

W& ST H 999 HL ;

(a) Tacsh i #1 wra H, ¥d, 7=,
Sifa, fem o 79 =F % suR W
4gHE & fawg iy =1 sfisr g
2

(b) Tereeit FrTiieni w1 e H wrerfires foren
&1 AR B

(c) ol Amifiehi =1 WG & A o |mey
HHAT T SR 9T B

(d) Taesft A 1 ya | & dem
& THLU H AT T AER Y|

(A) TF T E
(B) W (b) 3T (c) Wl €

(C) ¥ (a) 3T (b) TET ¥
(D) W (a) 3 (c) T &

feren & ford feaieqem & 7 =eor fau o 7
(A) %4 fo=q
(B) sToym
(C) Hrerza

(D) USHUE T
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Who has the power of Judicial review in

India, among the following ?

64.
(A)
(B)
(©)
(D)
65.

Parliament
Only Supreme Court
All Courts

Supreme Courts and all High
Courts

Which, according to S.E. Finer, are the

features of parliamentary opposition in
England ?

(a)

(b)

()

(d)

(A)

(B)

©

(D)

Unorganised opposition

It is permanent

It is representative

It is participant

(b), (c), (@)

(@) (b), (c)

(@), (¢)

(@), (b)

64,

ad |, frifea & 9 feus um s

TR 1 HAfER § 2

(A)

(B)

(©)

(D)

65.

wArHT

HIA I=0H -9

T =g

FTHGH FEEd AT 949 3= e

THE. WER & AT9N §reiE 1 wue wfaver

Eﬁﬁl’ﬁw%

(a)

(b)

()

(d)

(A)

(B)

(€

(D)

srenfaa wioua

7T T ¥

oz wfafafie 2o &
T HEWrl €

(b), (c). (d)

(@), (b), (c)

(@), ()

(@), (b)
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66. Which of the following is not correct for 66, ¥Ra ¥ fateq M F fad freifeg & 9

Election Commission of India ? FH e A R

(A) The President appoints Chief (A) T fafem s oiR fratem sy
Election Commissioner and Election =1 frafaa weefa & g+t st &)
Commissioners.

(B) The Chief Election Commissioner (B) T Al e #1 37 € ¥ 7
can be removed from office only HHE g TRIEm & ufEa g g
through  impeachment by BT ST Hhell ¥ |
Parliament.

(C) Chief Election Commissioner has a (C) W& frate sgem o1 ST 05 6]
tenure of 05 years. FEM S

(D) The decisions of the Election (D) fraf=m st & fofa 1 s=@m
Commission can be challenged in e R I e ¥ g o
the Supreme Court and High Elk:C
Courts of India.

67. Given below are two statements, one 67. = feu ™ & Fudi w5 afmaw (A) der

labelled as Assertion (A) and the other /IO (R) ¥ AHifwa foman mn 3

labelled as Reason (R).

Assertion (A) : iR (A) :

In the western advanced nations, civilian ofyaH faswfaa Sui § amfiw wftsr &=

authority is superior to the military. WHFR | F8 R 2

Reason (R) : IOT (R) :

Military is predominant in African it 39 H T afues gure #

nations.

Codes : - A

(A) Both (A) and (R) are true and (R) is (A) (A) 7 (R) S 9ea & a1 (R), (A) F
the right explanation of (A). el = 7 |

(B) Both (A) and (R) are true but (R) is (B) (A) TN (R) B &7 §, W (R), (A)
not the right explanation of (A). il TE = T

(C) (A) is true, but (R) is false. (C) (A)¥d &, 9 (R) 7o 2|

(D) (A) is false, but (R) is true. (D) (A) 74 &, T (R) T 1
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~ 68.

69.

(a)

(b)

()

(d)

Which of the following indicators is
currently not used in the Human
Development Index (HDI) ?

(A) Real GNI per capita (PPP $)

(B) Employment Rate
(C) Life expectancy at birth

(D) Educational Attainment

Match the following :
List-A List-B

Absolute Liberty can (i) Hobbes
be given to one person

Where there is no law, (ii) Leackok
there is no liberty

Man will forced to be (iii) Locke
free

Liberty means the (iv) = Rousseau
absence of restraints

(@ (k) (o) (d)
(A) (@) (v) @) (i)
(B) (i) (@) @ ()
(© (@) (i) Gv) ()
(D) (v) @) @) (i)

68,

69.

(a)

(b)

(©)

(d)

frefafea ¥ ¥ 97 @1 %%, adum §
ArE fershra gawiT o yga 78 o s ?

(A) o= GNI 9fa =afe (wa wie
&A1 $)

(B) TSR
(C) 91 %F T9Y, Sa7 T =
(D) el wiftq

Fretifere 1 gfera Fifo -
qe-A B

e dm et ok () e
=Afer =1 &t <1 Fehdl B

TRl A 74 8, (i) =iHTH
e A TE ®

ATA R WA BA F (i) @F
feru arey foar som

AN H A A () w
1 HAYE €

@ B © (@
A O (v @ @)
® @ @ o
© @) @ @) ()
@) @) @ @ i)

SPACE FOR ROUGH WORK / T% %14 & fed wiig
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70. In a society where cultural, political and ~ 70. T& §Hre forqd, |iepfas, TeHifas R
economic spheres are dominated by males anifefaR s TR e 1 Y B €, Bl €
is a(n) :

(A) Plurist model (A) SgHdEl disd

(B) Gendered division of labour (B) &9 I St nuiid fassH
(C) Patriarchy (C) fagaaTH®

(D) Elite model (D) faftremas aiee

71. In the context of Democracy which of the ~ 71. ¥9aA & Had § f=1 § 4 = gafea =&
following is unmatched ? g7
(a) Plato (a) TR
(b) Aristotle (b) &

(c) Machiavelli (c) wfFamast

(d) Hobbes (d) @i

() Locke () di®

(f) Rousseau () &I

(g) Hegel (g) @

(A)  (b), (d). (e), () (A)  (b). (d), (e). ()

(B) (). () (d). (8) (B) (a), (9), (d). (g)

(©)  (b), (). (e), () (©) (). @), (e) ()

(D) (@) (c), (d). () (D) (@) () (d). ()
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72.  Through which of the following the

minorities representation can be
effectively secured ?

(a)
(b)
(€)
(d)
(A)
(B)
(©)
(D)

73.
()

(b)

(c)

(d)

Cumulative vote system
Simple majoritarian system
Direct democracy
Proportional Representation
(c) and (d)

(a) and (c)

(b) and (c)

(a) and (d)

Indo - US Nuclear Deal of 2008 :

makes India eligible to buy US dual-
use nuclear technology

paves way for India to join NPT

brings India’s civil nuclear
programme under TAEA
surveillance

allows India to enhance the striking
capacity of its nuclear war heads

Select correct alternative/s :

(A)
(B)
(©
(D)

(a) and (b) are correct
(b) and (c) are correct
only (c) is correct

(a) and (c) are correct

72,

= 4 9 foras g sreaders] ¥ wfafafus

=1 Ao fopan 1 g 7

(@)
(b)
(©)
(d)
(A)
(B)
(©
(D)

73.
(a)

(b)

(©)

(d)

ot = yoreE
el SgHES orTed!
ERER GRS
i wfafAfue
(c) ¥ (d)

(a) 31 (o)

(b) 3 ()

(a) ¥ (d)

YRA-F.UH. A9 69 2008 :

WG #1409 ¥ fG-swEnht mfasm
Sreifret #1 @ie & drg wmE &)

YRA 1 NPT ¥ wnfaar 219 =1 T
IF FE 2|

YR % e Tifve s F1
IAEA % Weemr % sfmrfa omer &)

YR 1 ST T Bferamt § o
& H g1 T st T 2

Fﬁﬁwqﬁq

(A)
(B)

(a) 3R (b) W&l ¥
(b) 3 (c) W&l &

(C) 9 (c) el &

(D)

(a) #H (c) wet &

SPACE FOR ROUGH WORK / 7% & % forl s

' 9210/TFU-POL/ELG-II

33

Set - A



74. Match the following in the context of 74. U=l & fagral & uds & doof §
Theories of Rights with their supporters : fr=ifera =1 gafaa wifag
List-A List-B gl-A gET-B
(Theory) (Supporters) (fagr=) ( wmefe )
(a) Natural Theory (i)  Hobbes (a) WrFfaw sifverm (i) @eH
of Rights 1 fagr
(b) Legal Theory (i) Mclver (b) Awfw rfumrl (i) HEFEA
of Rights =1 fagr
(c) Public Welfare (iif) Locke (c) i FeAHR (iii) @H
Theory of Rights At =1 fagr=a
(d) Historical Theory (iv) Laski (d) ufqeifas safysr (iv) TR
of Rights 1 fagrm
(@) (b) () (d) (@ (b) () (d)
(A) (D) (v) () () (A) @) (v) @) ()
(B) (@) () (iv) (i) (B) @ () @v) ()
(€ G) Gv) (@) () © @ @v) @ (i)
(D) (Gv) (i) @ () (D) (v) (i) @ ()
75. Which of the following is not a function ~ 75. f=fafEd # & =i o && WU, (CAG)
of the CAG ? 1 87
(A) Audit of expenditure and receipts (A) w=9 Ffy & €7 aet == 9o gfeq
to the consolidated fund fafl 5wt = s gdieon
(B) Auditing of accounts of institutions (B) TR ZWI I€Ms W dleil WEAS &
run by the government ST I TT@l T |
(C) Toadvise the Planning Commission (C) Arsr 3mm =t dssll & fadi uy
on financial aspects of its plans WA |
(D) None of the above (D) 39l § 9 FrE &
SPACE FOR ROUGH WORK / % &d & ford wmig
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76.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) :

Proportional representation with single
transferable vote system is more
representative than other systems of
representation.

Reason (R) :

In majoritarian system the minorities
do not find adequate representation.

Codes :

(A) Both (A) and (R) are true and (R) is
the right explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the right explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

76.

=1 a1 w91 %1 afumas (o) 9o
FHIUT (R) § Aoifera foan o &)

AHT (A) :

THd TEa0T 9 YO Srel
gfafferes, afafafue 3 s yonfemi 4 sifus
wiaffe &3 aren g £

FNUT (R) :

FEHEF YUIell & TeTHEEF F wIiE =y
| wfafifies =& frer ot 2

(A) (A) @ (R) ST T & 991 (R), (A) Ft
et = ¥

(B) (A) e (R) Tl 7 §, W (R), (A)
F T AT T B

(C) (A) && &, W (R) Tord &)

(D) (A) T %, g (R) T&t 31
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77. Which one of the following is correctly
matched ?

(A) Property as product : Proudhon
of human labour

(B) Property as theft : Marx

(C) Property as : Aristotle
instrument
(D) Property as : Locke

appropriation of
surplus value

78. What is correct about Marxism ?
(a) Scientific socialism

(b) To each according to his ability to
each according to his needs

(c) Classless stateless society
(d) The state will be dissolved
(&) (@

(B) (a), (b)

(©) (@) (b) (c)

(D) (@) (b), (c), (d)

77. T ® wm-w wd frem &2
(A) HUfdHAG g9 &H:  GEA
o i

(B) I FEIH . HEE
iy

(C) THAESIF®I : WH
o gefy

(D) A TAESF : &®

THITeSH & &9 8
Eelee ik

78. WEHHOG h O H W@ T E?
(a) AT FHEERE

(b) FAFFAIER FH R AEEHRATAR
wifi

(c) aIEH T qa
(d) T fasfed & smem
(A) (a)

(B) (a) (b)

©) (@) ) (9

(D) (@) (b). () (d)
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79.

A political party gets recognized as a

National Political Party,

(a)

(b)

(c)

(d)

(4)
(B)
(©)

(D)

When it secures at least 6% of the
valid votes polled in any four or
more states in general elections to
the Lok Sabha and in addition, if it
wins at least four Lok Sabha seats
from any state or states.

When it secures at least 10% of the
valid votes polled in any four or
more states in a general election to
the Lok Sabha and in addition, if it
wins at least four Lok Sabha seats
from any state or states.

If it wins at least 2% of seats in the
Lok Sabha i.e. at least 11 seats in
the house of 543, and its elected
members are from at least three
different states.

If it wins at least 4% seats in
Lok Sabha i.e. at least 22 seats in
the house of 543 and its elected
members are from at least three
different states.

only (a) and (d) are correct
only (b) and (c) are correct
only (a) and (c) are correct

all are correct

79. UF UsHifaes 1 H, AL USHifaF oo %
w9 H Aran 99 fyert o9 g,

(a)

(c)

(d)

(A)
(B)
(©)

(D)

REA & H A §, R AR
a1 firr T A Fo A9 HA H 6%
T Y, Y A, 9 R v vt
H %9 ¥ %9 =R dma &6 ¥ faey
AT e |

HFEY F A g §, R an
a1 ik T ° 9 T #: 10% 9
L 3T Ty & =8 Tt voa T
F9 ¥ FH IR g &5 5 faey
I i |

T % W A, A
Fe F 9 543 W H | w0 @
FH 2% TIM, HATT 11 UF |1 faeg
TS H1 7, 3R Y Faifaa e an g
Y o o= =1 % 2

SHTT F FHA TE § F9 G w5
4% ®IM Sid HIF 543 Wi F F9 9
& 22 T S 2 3R 3 Fraifan wew
wH 9 FH o e i f 7 2

T (a) #iT (d) T E
T (b) 3R (c) Wel )
AT (a) 3R (c) TE &)
Tt @@ 2 |
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80. Which of the following is a constitutional ~ 80. fT=fafEd ¥ ¥ ®F s Hiaw+ fwm
body ? g?
(A) National Child Rights Protection (A) T o1 AR TRETT ST
Commission :
(B) National Backward Classes (B) U fuer anf smm
Commission
(C) National Commission for Minorities (C) U AIHESTH AR
(D) National Commission for Water (D) U STl ST AT
Conservation
81. G-20 Summit held at Osaka (Japan) in ~ 81. 3frE (|T9M) 2019 F G-20 foreR TeeH
2019 acknowledged the importance of T “3E+5” % He™ W o G0 11 3E+S
“3E+S”, which stands for .......... Y §
(A) Ecology, Economy, Energy + (A) FhIersit, g, TS + faagfet
Security. :
(B) Energy Security, Economic (B) =SH fasgfEt, semifas woifau=d,
Efficiency, Environment + Safety. FAE = + U
(C) Emissions, E-governance, (C) wHivM, 3-Ta, 3-fasg + 9
E-business + Safety.
(D) Environment, Economy, (D) TEEUH=, §RAMT, 3-HHd + faarsf
E-commerce + Synergy.
82. Which of the following is not a 82. fTrfufias & & #m @t fadvm sgHepfaer
characteristic of multiculturalism ? & TR 2
(A) Tolerance (A) HeETeieral
(B) Liberty (B) T@al
(C) Specialisation (C) fasmdteto
(D) Democracy (D) wrhad
SPACE FOR ROUGH WORK / 7% &g & fod sg
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83. Choose the correct sequence for Policy
Formulation Process :

(A) Agenda setting, Formulation,
Adoption, Implementation,
Evaluation, Termination

(B) Evaluation, Adoption,
Implementation, Formulation,
Agenda setting, Termination

(C) Adoption, Agenda setting,
Formulation, Implementation,
Evaluation, Termination

(D) Implementation, Evaluation,

Adoption, Agenda  setting,
Formulation, Termination

84. SAPTA is:

(A) SAARC Preferential Trading
Arrangement

(B) South Asian Preferential Trading
Arrangement

(C) SAARC Preferential  Tariff
Agreement

(D) South Asian Preferential Tariff
Agreement

83. ifa Frmior =1 witeen % fordt wét w9

84.

(A)

(B)

(©)

(D)

TSl Wfdn, fregw, Hifs #1 soEmE

qeai®d, Fifa ® srwarm s,

Hifa & st s, weer Afi,

forareram, geaies, ifa =t st

A< (SAPTA) # :

(A)

(B)

(©)

arh frtpfrae efdn vz

3 ufirA e efén vz

s TRt efie witdz

(D) WY Ufered e e

Witz
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85. Akula I Nuclear Submarine Project, ~ 85. STl I TIfvehTa Tgesit 9faisr, §ie S92
SARAS Duet Aircraft Project and ONGC TETR S qen Sl L fadw
Videsh-Sakhalin I Oil Project are grEed 1 @fga 9feateqn, YrRd a9
examples of cooperation between India & HY Hedr & F9 UH S
and _ g
(A) Israel (A) TEUEIA
(B) Russia (B) ®H
(C) Germany (C) ELEl
(D) Japan (D) M9

86. “Princess and Governments are far more ~ 86. ‘'THWN H 311 39134l 9§ it TR TS
dangerous than other elements within AR TFR At e
society.”

Who said this ? 7% fohae % 272

(A) John Locke (A) T TR

(B) Niccolo Machiavelli (B) frerel AfwamEE
(C) G.W.Hegel (C) Si.zsy, €
(D) Jean - Jacques Rousseau (D) S-S &6

87. Right to Information is a : 87. o I SR ¢
(A) Fundamental Right (A) Hifers sfusr
(B) Legal Right (B) Ay fer
(C) Neither Fundamental nor Legal (C) = wiferer &R 7 & Suif A

Right
(D) Both Fundamental as well as Legal (D) 2 € Hifers ud durs sfEwn
Right
SPACE FOR ROUGH WORK / T% wrd & fod sme
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88.

89.

90.

Which of the following judgement stated
that ‘Federalism’ and ‘Secularism’ are the
basic features of Indian Constitution ?

(A) Keshavananda Bharti Case
(B) S.R. Bommai Case
(C) Indira Sawhney Case

(D) Minerva Mills Case

Who is known for his dialectics ?
(A) Hegel

(B) Hobbes

(C) Locke

(D) Machiavelli

Which one of the following is not true of
Kautilya ?

(A) He sought to make politics
autonomous and practical.

(B) He favoured the perpetuation of
Varna system.

(C) He favoured theocratic system.

(D) The state should aim at acquisition
as well as the preservation of
domain.

88.

89.

90.

frafafea 4 4 fem fola § == 1 5
‘o Fder’ oit ‘weEe ! Y Sfaes
FT Fere faoamd § ?

(A) HIEFHT YR Fho

(B) TH.SAR. STE WUl

(C) e et W

(D) Toal ey yo

2 geras st ¥ fom s e 2

Fifeed & an # f77 # | w0 wd 7 37

(A) 39T TSHITG = @EY 6 =EEiis
a1 F HIfv F

(B) 384 =uigw =t wen 1 fiawan =+
FHTCTd o

(C) 357 yHda &1 Sheld &1

(D) T F AT WY 9N TS THE @
FH F1 & =gy

SPACE FOR ROUGH WORK / T% &1 & fordt wme

9210/TFU-POL/ELG-II

Set - A



91. Comparative Public Administration is  91.

related to which ?

(a) Empirical oriented
(b) Ecological

() Nomothetic

(d) Ideographic

(A) (a)

(B) (a). (b)

© @ ), ()

(D) (). (®), (c). (d)

92. The Land Boundary Agreement of 1974 92.

between India and Bangladesh was
revised in May, 2015. The purpose of this
agreement is :

(A) Distribution formula of water from
Farakka barrage

(B) Exchange of enclaves on the border
of both sides

(C) Census of population staying close
to border.

(D) Construction of freeways across
border for smooth transportation.

e @i e e g €2

(a) STV

(b) RferfasT
(c) T
(d) faRredanyee
(A) (a)

(B) (@) (b)

() (@) (b), (c)

(D) (@) (b). (e), (d)

9T 3R SR ® A 1974 H Y-
TRl it THTAT §E 2015 5 1 T | HHEid
Eofcitof

(A) TRUSRRT F1Y T ST H1 AR g
(B) =i 29l =1 Hmedl = avw & a6
1 Ee-aga

(C) HiHl = fse wAare @l i ST

(D) mqﬁﬁm%mm%m—m
T & o1 i
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93. Correctly match the following : 93. frafafad =1 wé foom =1

(a) Chhattisgarh (i) Narva, (a) BEETR (i) E, T, g,
Garuva, 1|
Ghurva,
Badi
(b) Central (i) Begum (b) ¥ WEHER (i) «ATH TA Hed
Government Hazarat F41 BrEgha
Mabhal Girls
Scholarship
() Andhra Pradesh (iiij) Dukan-Makan (c) MY YW (i) THA-HFHA
(d) Central (iv) GOBAR- (d) = &FT  (iv) TE-4F A
Government DHAN
Scheme
(@ () (o (4 (@ (b) () (d)
(A @O @ @) @Gv) (A) @ @ @) ()
(B) @) () @) @) (B) () () @) (iv)
© @O Gv) @) (i) © @ (v) @) (i)
D) @) (v) (i) (i) (D) () (v) (i) (i)

94. According to Aristotle which of the 94, 3% % 4R f=fafas e H W FE

following groups was of primary e &9 § ?
nature ?

(A) Individual (A) Sfeq
(B) Family (B) WfER
() City © T
(D) Club (D) =4
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95. What is unmatched in the context of  95. U s WEA & i & Hed § 941 gHferd
elements of New Public Administration ? TG E?
(a) Relevance (a) HaH
(b) Morals (b) HIERAT
() Values () 7THA
(d) Innovation (d) =T
(e) Leadership (e) AqA
(f)  Unity of command (f)  2T<S T Tl
(g) Social Equality (g) WIS FHFAI
(h) Neither value free nor value neutral (h) @ e AR T & g s
(A) (), () (4) (@), ®)
(B) () (d) (B) (), (d)
Q) (o). () (€ (e). ()
D) (2 M) D) (9, (h)
96. Which of these are included in the seven ~ 96. =TS ==t R Rfaifed F=mw & |1 fagri
principles of communication propounded #H, 371 | 1 wimfem &2
by Barnard Chester ?
(a) The channels of communication (a) T =e fafvsm @ anfe
should be definite
(b) Everyone in the organisation must (b) HTSA &F &F F 9H gEw F1 fFHfem
have a definite formal channel of =i S99 24 =ifeu
communication
() The line of communication must be (c) THEY FHl & Y4 X S E
as direct and short as possible e
(d) Every communication must be (d) TEF TEHEY FRibic| 1 ey
authenticated
(A) (a) (A) (a)
(B) (a) (b) (B) (a). (b)
© () (®) (9 © (). ®) (©
(D) (@), (b). (c), (d) (D) (@), (b), (), (d)
SPACE FOR ROUGH WORK / T% & & fod g
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87.

98.

According to Mary Wollstonecraft what 97,

is the key to women emancipation ?

(A) Political Rights

(B) Economic Rights

(C) Education

(D) Legal Rights

Which of this is unmatched in the 98.

measure of managing conflicts in the
organisation as propounded by Mary
Parker Follett ?

(A) Dominance

(B) Agreement

(€) Compromise

(D) Integration

i} SiereieTe  SAR Afeensi ¥ IgH
FI S FME?

(A) THifgw sfusr

(B) 3nfdew sifumr

(C) foien

(D) fafie siftmr

T IR Wiele g wiawifed wied | wed

1 7 F T 39 o e T &2

(A) TS

(B) HHfd

(C) el

(D) WHIHL
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99. Which of the following statements is not 99, 7= & % o1 o el & 22
correct ?
(A) Shanghai Cooperation Organisation (A) HETE Hedr |ed (SCO) Fi ' gdi aui
(SCO) is regarded as ’ Alliance of the I =y wr S R
East'.
(B) India became full member of SCO (B) WA ¥ 2017 H SCO &1 T% Y0 H&H
in 2017. ERL
(C) SCO is primarily a defense group (C) SCO wrafast dR W ufers gian
for Asian Security. T PR TR T
(D) SCO has emerged as a powerful (D) Tawa wemifa &1 wsifam &= H SCO
group to influence world politics. vIfasTet! 99 & &0 H 397 2 |
100. Justice based on the concepts of human 100. T4 AfHRI § THET TR AuRE =g #
rights and equality is called as : FMFEAE?
(A) Legal Justice (A) fafesr =
(B) Social Justice (B) qifas =g
(C) DPolitical Justice (C) TS =™
(D) Distributive Justice (D) faao =m
~-00o0- -00o0-
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SET - A

I Afeha A HTEAT : 2GS } { sfireman 3 @ 200

Time for marking answers : 2 Hours Maximum Marks : 200

1. 38 yE-qfes § 100 9= W9 § - Y&S W99 2 3% #1719t v g e e §
2. Y % 39 & TS FH1.UH.HAW ITH-9012 (HE-902) W SHiEwa wifan)

3. HRUIHE YodiwA Tél a1 SEm |

-

el off TE & Fergerel 91 @ 299 U HEEe BiF S Y4 afed €

5.  HLUH.HANL IAL-VE (HAE-TE) F VAN Hld THY TH HIE SEEUH 7 HL/ T (98 T8 B T
71 39 Hrg 7 faerae anfg 1g w1 foa® werasy 98 @iE @ 9|

Note :

1.  There are 100 objective type questions in this booklet. All questions are compulsory and
carry two marks each.

2.  Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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